ERH&WA BD LEICERR S TR

#WEipHE109& 10 % 28 p

WA ER A

¥g ) B | 29 I3 I AT e Al BT R | FER A FEAR

o AR
Ay 1 |2 &2 EPFREPAET KT 4N 28 5 1 20 + EP LR
NN 2 |2 &2 EMELEPAET KT 3 26 5L 1 20 + £k
O F 3 |F&2 EMELEPHEDT KT A 14T 5L 1 22 * AR
NN 4 |t &2 EMEREMET 2 TASF 142 52 1 22 4 £k
Y 5 | &2 EFEREPEDr 2 1948 & 1850 1 24 £k
AY 6 | &xZ EFFLEPET X2 18 My & 32 5 1 17~ EFP Ak
S T &2 SR EMAD K2 48 205 1 20 + R




rE2 EFEREMET K2 1T & 815
&2 EFERREMPET RE 1THY & 115 o
N EFPREPEEDT HT 1T Y & 175 o
Ny EPRLEPEEDT HT 1T Y & 42 5 o
rE2 PR EPEDT £2 198y & 155 o
&2 PR AP £2 198y £ 195 o
&2 EFPELEPAET T 1TV & 65 o
&2 EFEREPED £I 1T A & 43 50 o
EARRA

=
s
|\

EMELEPEDT £T 19H8Y & 105

£~

=
s
|\

EME AP A
REWALT BT 19 MY & 8 EL

£~

=
R
g

£ R AT T 18 My & 25-4 %

ERRC

=
R
g

f,_Fm—%-‘,/é‘4'}"',—)g 4.1 32
n Bt -1 =2 17}]55"\3% 3%’){‘

ERRC

=
S
g

E]/ 1 L a2
APE AP A2 14T 26458

EF AR




hiEN:] APE A4 £ 48T 2 755 1 9 4 LAk
r&2 EMELEPAT X2 14 4F 2 74 5 1 12 « EP R
hiES ] AP A4 £ 45T 2 655 1 10 « LAk
r&2 EFMEREPED £2 14488 2 67 50 1 20 + £~ R
r&2 EFEEPEED £ 14 3887 2 66 5L 1 10 + Ak
&2 EFELEPEED 13 &8 =7 139 5L 1 20 « AR
r&2 EPEB e T 1387 141 5L 1 17« EP AR
r&2 EFELEPADT £ 2 3 835 1 24 EPA R
r&2 EFEEP4ET £T 15T 2 T35 1 10 + LRI
&2 EFEEPEEDT £ 1687 2 7] 5 1 9 « & e R
r&2 EPRLEPEEDT £T 145 8705 1 12 + EB Ak
&2 EPRLEPEED £ T 14 5T 8695 1 20 * £k
r&2 PR E£PED £2 14 3F 2 68 5 1 13 4 ERCRA )




34

4’:Fm,‘|‘,1 $

Sy
[t

=

ARG B T2 8

35

4’:Fm,‘|‘,1 $

Sy
[t

=

ARG B 54 8

13

36

EMELE RS

Sy
[t

=

ARG #2558

13

37

EMELEW

Sy
[t

=

4 ARE # 53 5

20

38

=
o
[Et

16 #8 % 2 37 %L

20

39

=
o
g
%

= 74 133-5 5L

13

40

=
o
[Et

R34 85 L

26

41

=
ol
[Et
%

R 80-4

20

42

=
ol
[Et
%

B2 7t 138 5L

22

43

=
ol
[Et
%

R 7 150 5L

26

44

=
%
|vg

13

45

=
%
|vg

26

46

=
%
|vg

13

LRI

&R AR

& AR




47 |+ &2 EFPERE AT X2 | MM 25 13
48 | &2 EFEREWPAET £2 TS 335 20
49 |- &2 EMEREWPAET £ 2 5 A 455 13
50 | &2 EPEREWPAEDT £2 5 30 5 26
51 | &2 EMELE AT £ 45 305 33 ERCRON
52 (&2 EMELEPADT T D AN 38-2 50 13
53 | &2 EFEREPED £2 10 487 92 5L 40
54 | &Z PRI EMEET £ 2 11 487 85-1 5L 13 ERRA
55 | &2 PRLEPEEDT £ 11 485 91-1 5 10
56 | &2 EFEEPAET £ 10 487 125 5L 13
57T | &2 PR &4 T £ 2 10 487 99-4 5 6 « EFP L R
5 | &2 EMEREMAET £2 1348857 109 5L 9 4 EFP L R
59 |t &2 PR EPEDT £2 138 124 5 12 + E@B R




Y 60 | &2 EFELEPAEDT R 6 M 51-1 5L 12 « EP Lk
O 61 |+&2 EFELEPAET ZT QM THH 8 « EP Lk
O 62 |+&2 EFMELEPAT R 6 M 675 10 « EP Lk
&3 62 B 922 &
o2 RS HED T EFRRAR
rERIESE | 63 |EAZ EFELEPAT KT 2 601 5L 150 « EF LR
AR 64 | &2 EMELEPED £2 2 12050 200 * ERRA
&3 2 R 350 <
Ik -BPIHH
B %k 65 | &2 AR AP X2 14487 2 54 55 8 LA
e 66 | &2 PR EPET T ITHEY & 35 8 « £k
e 67 | &2 EMEREWPAEDT £2 5 435 13 + £k
e 68 | &2 EFREPET £ 1] 4E 209350 20 * EPA R




R 69 |2 2| AFA&PEIAEZ I5HL 2R 1 A
T 0 |ZHZ| AFFAPEIEZ I5RTE4 8 1 L S
B %k M or&2 B &P4ED £2 158 2 195 1 20 + LR
oz 2 |E&Z| EFFIEMETRZ 16 HT #3115 1 20 + SRR
e | r&Z EFR &P £ 15T & 2T 5 1 20 + ERCR
%l Mo T&2Z| EFEEP4ET AT 1] M 161 5 1 40 &P A
&3 10 175 &
X T4 A 1447 &
O# £ Hp
- PRGOS LA 4 SRR R
(~>~ Lz (3 R R/ETH-2E) .
(=) 2F2aFdEp 2 @HEXE (BEZP wrOORZ A R 29~ A d B3 Fiirp M E)
(Z) 2R * 2 RP RSy Z@HEAF (BIP W 27 TR - RL 3 Eta2@* )
- xﬁ,%ﬁ"{ﬁﬁﬁbﬁ?‘%ﬁ% ) P ET(R BT R R EE) -
i\yipﬁgq-ﬁig_r,u«f F\J}("’K Y s B EITE
o~ T Rty e TR A s A 'ﬁ*ffﬁ;ﬁiﬁ‘—ﬁ-ﬁjﬁj%f’
(blde: T2 2 & > ,,ﬁfi'rfail}é;i:‘%]!;iﬁgﬁfg?}%z P /Ay T 1-3 K errﬁiﬁigléw.—g CHE1~203)




